M SRR HH % R H & AT fE H Gt
7 HE =EH KA 3L 110mH 15842
9 JAIIE-C YN g i) 6 fir 1500m 4450 2%0 3
10 el & WL 2 fir A Bk 6m8 2
_ 5ir AR Bk 6m45
10 FiH K% FSINVARE] —
5L =t 13m71
34 10 gy K— Ak 3L 40 OmH 57%59
11 TR A% NYE VA 110mH 15#52
37 AR Bk 6m55
11 FH O OBOKRR WL —
6 {ir 7 Bk 1m95
147 L 10m58
C1 AR R R
2 {ir Ny — P 42m86
37 100m 11817
6 L 2w WL
% . 3ff 200m 22827
9 T HER NYE 6 1. 4 0 0mH 14502840
10 i R g 5{if bk 1m95
2 {ir 4 0 0mH 57821
14F 10 N i A Edn
5{if 10 O mH 1613
34 10 1 Wil
24 6 L 2w Wil
— 147 4%X100mR 41852
34 7 HE FE FRAEAL
24 10 /N HRR —{h,
35 1 #LE =& £330z
25 6 Wit 2 - J11] 3718#65
: 14 4x400mR N
35 11 TE iR nE AehssE
35 11 A BR =yt
147 & =k 1m6 7
3 N AR S —
147 =k 12m16
; R - 2 /7. 100m 12f4 4
16 200m 249094 KeR1
7 —— —— LAz fiel AL 11m36
i ) 1 | ne—ig 4 6m9 0L
4 iy 9 ZRH B RAEAL 6 fiL 300 0mpEE 124500f39
9 B AR N 41 5000m 1840599
16 maz 4 1m4 6KEH
9 ir . 57 T 2L fif AL 10m50
REIA N — B 41m10
9 il s I ALER 6 {if 100m 12%#90
10 ZhE A KIFE 3 5000m 17459812
11 R K XA FE 47 300 0mpEE 11433819




C2 AN NI S FANLEE 147 300 0mpEE 11421%46
‘ 3z 100m 12851
5 I By AL
447 200m 2543
. 2L 5000m 175541865
5 K TH i)
- 3L 300 0mpEE 11431#05
2
- 24 Now— 42m07
10 N AEEAE =5
6 fif Pt 25m49
C1 e &<5 N 447 10 OmH 16f14
c2 E =1 NV E 447 AR Bk 5m3 8
2 Yr| o S RAE 5 fir 5000m 184r14%86
4 PR 2K RAE 37 400m 1500828
7 NI =3 AvEI 347 800m 24515890
6 {ir 800m 2517879
8 R R RAE 447 1500m 4453572
1 4R 147 5000m 17439801
6 fif fiafL% 8m80
9 JRHE  EE B
5. N — B 22m10
10 WD FhIR RAE 6 {ir 5000m 18419880
B 6 {if 200m 26502
10 R EAK PN
6 1. 400m 1501825
24 Cl ha &< Kig
14 10 L = q K
: 347 4%X100mR 4 8%58
14E 5 SIS v
14 4 PR 2K RAE
35 6 HE *E by <3
35 11 a4 #< =i 3756163
14 4x400mR o
15 4 hiR % E313 AehssE
15 10 ERA BXK B




